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Note:~ You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in
front of that question number. Use markeror pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that

- question.Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,
otherwise the student will beresponsible for the situation. Use of ink remover or white correcting fluid is not allowed

(D) (C) (B) (A) QUESTIONS Q-1
_;h_‘/'fﬁdn/dl = 2Aress LGSy e -‘aﬂdfgfd/’l/%;ﬂc.ufd_}bu .1
e B Jeeiid £ L Which of the following is not characteristics of
E mail Actual link to Using of Similar Phishing website.
account . forms to domain of
update website collect visitors | actual website |
sl el puAgE L 2
® $ ® © T — e “é
' Symbol of copy right is
FEE AL g HTMLL | 3
' S e
html ppt XLS doc
To Save the HTML page you can use
as file extension.
f:‘ Sl Lo Jf ;C( S q.&(g(fdb'f“‘lé.L(@l/}l)ﬁf&&&/dﬁ&/(g;ﬁ 4
Which Symbol in the flowchart is used to either
Decision Process Connector Terminal start or end the flow chart?
. Lotops | bieduri | Badent | beder, | -etWeELLaddesf | s
Absent d Boundary test | Invalid test Valid test __Solution is tested on extreme values
. S Cai data data data
N : , -c‘_t'_w.i/.ﬁ "17"/."'g,l.‘.'(’/df"'g 6
E 10100 10001 10110 10000 Number “17” is equal to in binary
system.
- b B[y ., P ’ .
< html > <tite> | <head> <body > sBsig | 1
The element is a container for metadata
JJL_[@{@KL/L%{U‘%JMUIJ( .8
s P
1 2 3 4 P,
At least byte is required to store any
piece of information in computer memory
Dynamic Host | Dynamic Host | Data Host Data Hosting 14 DHCP | 9
Configuration Computer Configuration Computer DHCP stands for
Protocol Protocol Protocol Protocol -
(‘L/_/‘}_‘.,.I rL/J)/ ("//J/#JIK ("/d.«:l,( g,z!’é;_.)().'.éf{}/ jf'_/J%)J)'/‘..;/..u;i)/Jﬂ/,..a .10
Computer Server Client Server Client Web brdivs’érs'»and Web servers function
System _ System System System together as a system.
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Part

Answer briefly any Four parts from the followings.

Explain Problem solving. .
Write two names of symbols of Flow chart.

Define the Actitout. -{/ 74 - /7 d/ &ifh‘«[&g Gv)
What is meant by HTML?

Write the output of the following code inHTML.

< html >
<body > ’
<h, > My First Heading < /h; >
</ body >
</ html>

-Answer briefly any Four parts from the followings.
Convert (59)o to Hexa decimal.
What is meant by Temporary Storage?
Define “AND” operator.
What is meant by Boolean propositi 6n
Define Software Piracy?
Explain Softlifting?

Answer briefly any Four parts from the followings.
Describe the Hardware sharing with example.
Differentiate between static and dynamic IP address.

Do you know the use of HTTP?

Write comparison between Point to Point connection and multipoint connection.

Explain the order list.

Write the oﬁtput of the following HTML code.
< htm!> < body >

<tle> BISE RAWALPINDI < /title >
< /body > </htmi>
Note: Attempt any Two Questions.
5. Define an algorithm and argue on its role and
" importance in problem solving.
6. Describe the understanding of IP Addressing.

7. Write down the characteristics ofa good password.
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<htm! >
<body >
<h,> My First Heading < /hy>
</ body >
</ hemi >
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< htmi> <body >
- < t}tle - BISE RAWALPINDI < /title >
< /body > </html>
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Notei- You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in

front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that
question.Write PAPER CODE, which is printed on this question paper, on the both sides ofthe Answer Sheet and fill bubbles accordingly,
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for the situation. Use of ink remover or white correcting fluid is not allowed

(D) (©) (B) (A) QUESTIONS Q-1
Y| Lo} J*2 e 3L enQutesd |
Output Decision Terminal Input In flowchart, O symbol represents
g o JHH oy et d LE PR A 2
Goto Set If-else Start In algorithm, that is used to check the condition
-QYLMGMJ:(W&/WI 3
1-9 0-9 1-10 0-10
Digits in decimal system are
rb'?, -4‘:.b‘n/.l/,A OR False J;lﬁiﬂi 4
A 1 0
All of these In Boolean algebra, A OR False =
Ve tS5 Wbt | st b 6y | 5
all ofthese Correction | Error detection | Authentication | Protocol covers
oA Y Jf);/‘, (b _%lganbﬁ?ﬂﬂgﬂ.’/dr‘: duﬁfdr’; 6
Information Address Protocol Message Receiver must be capable of accepting the
el slds s H/cﬂ,ui'brg N
12 10 08 06 )
Password must be character long.
o S bt 2o sl s 7 T |8
V4
S Jad FF bar et ey
CAPTCHA | Verification | Signatureline | Password | Collection of irregular text that make sure that
the consumer is human, is called
bl e s LS RUTML |
0 <> O .
HTML tags are enclosed in
_clz_t'ndtﬁ’l_?"i LLffl:4}i’.4 Fes | .10
<pic> <i-m> <scr> <img> ) ) .
To insert image in the web page, the tag used is
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. <body >

<hl1> My heading </h] >
<h?> My heading 1 </h2>

Answer briefly any Four parts from the followings. ~4%2=08 -u‘_/ 4 } OIS /5" Ziz ch—éy( St 2 / Jir

Describe valid test data? 194 g u,lg.f Biotdern i) Explain verification? ~ 9(]. Seolosly u"ﬁ( S 6

What is efficiency of Algorithm? ?:‘_Jnt_fdﬂf K ,’;{ A Gid

Explain the decision making? U 1 c;)lb;d/ Sibded  Gv)

What are types of HTML tags? 0 /gl u”/ JEAETML W)

~ What is output of follows code? oI NONSN11715 4 PIV C7))
<html> ’ <html>

<body > )
<hl> My heading </hj >
<h2 > Myheading 1 </h2>

</body> </body >
</html> < /html>
" Answer briefly any Four parts from the followings. ~4x2=08 -q/ 4, /? Y4 /,-g Liz lzgaéf e Sditn 3 / Jir

Define Hexadecimal number system.

Convert (1000001), to decimal number.

What do you know about Bit?

Give an example of Boolean Proposition.

Write down definition of Piracy.

What do you know about Hard-disk Loading?

Answer briefly any Four parts from the followings.
Explain the communication channel.
Describe File sharing in short.
Write the name of components of Communication System.
Describe Nested List. F~J,,-/ uy.f s (v)
What is the purpose of Hyper link.

Part II
Note: Attempt any Two Questions.

5. Suppose a problem has multiple Algorithm, How would you

choose the most efficient Algorithm to solve a problem?

6. Describe Star and Mesh topology.
7. Whatis Cybercrime? Explain its any three types.
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